FINANCIAL MANAGEMENT
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The figures in the margin indicate full marks
' for the questions.

Answer either in English or in Assamese;
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Answer ql] questions.

1. Answer the following as dirécted: - 1x10=10
(8) In respect of raising ﬁnaﬁcé from new issue
market, companies are prohibited from,
issuing shares at a discount except in the case
of issue of sweat equity shares.
(State. true: or false)
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(c) Use of debt capital to gain is known as:

(i) Financial leverage

(b) Key financial functions of a firm include the ) Dpeu et
following except : NG Preime

RPN B R e et eI e (iii) Financial operating leverage
‘ | aw e
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(a) Investment decision (iv) Position and operating ratio

Rfce Paw AN oI el rgeire

.(b) Make or buy decision (d) When fluctuations in sales are accompanied

by disproportionate fluctuations ir operating
o o1 Az as profit, it results in :

(¢c) Dividend decision | CZ[F\WT IR e W‘?ﬁ%ﬁ? S
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(i) Operating leverage
SRR ool
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(d) Financing decision
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(i) Financial operating leverage
Rer wsiicE: FreiEs

(iii) Fixed capital turnover

(i1) . to ‘rank them in order of profitability
Profitabilitys Snsiss @2Retes @:Rwad
(iii) to rank them in order of sensitive index
Sensitive 35 SwEIR ﬁﬁﬁrw (ENEESE ]
(iv) both (i) and (i)
(i) o= (iif) e

gl @A turnover
~ (iv) Capital operating turnover
T SRR turnover

(¢) In a capital budgeting decision, where a
number of alternatives are competing for
selection in terms of profitability, opportunity
to accept and whether it is more desirable
than an alternative opportunity, it is necessary :

(f) Which is the correct description of the

situation of a firm after conversion of
debentures into equity ?

A4S equity
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(i) Increase in debt equity ratio and increase
in the risk factor

.Debt‘equlty e JE W R
TRV I ‘

(i) Increase in debt equity ratio and decrease

(i) to make decision whether to accept or
in the risk factor

reject a given investment proposal

Debt equlty S q-f% i Do
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(iv) fluctuating working capital

(iii) Decrease in debt equity ratio and ©
increase in the risk factor
Debt equity SHAre FH Wi e
SRS @

(iv) Decrease in debt equity ratio and
decrease in the risk factor

(h) Current assets are twice the éurrent liabilities.
If the working capital is Rs. 20,000, current

assets would be :

Debt equity SIS o e Rem
AR IOl ZA
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(g) The capital employed as working capital AR ®9¢

constantly, changes its form to drive the
‘business wheel’, it is known as the:

W@@mﬂﬁﬂﬁqﬂmﬁﬁmﬁw
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(1) Rs. 10,000

10,000 o=t

(i) Rs. 40,000

QA =
(i) gross working capital R
55 TR T (iii) Rs. 80,000
(ii) circulating capital 80,000 o=pt
RN (iv) Rs. 20,000
(iii) opera mg. working capia 20,000 o=t
SEDL FRFS ‘ |
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(1) Tandon Committee and Chore Committee

recommendations related to :

Tendoh Committee == Chore Committee

ROHIRAT R aivte i &

(i) Bank finance for working capita
requirements
PP AT AECATOR QI @
Re e |

(i) Guidelines from ministry of corporate

affairs on working capital finance

IS Y Q@ REwS oG
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(iii) SEBI guidelines for long term capital

finance

MO 4 @t siserioe 7t SEBI
? -
(iv) RBI direction on SLR and CRR

SLR @i CRR @wws Ta RBI
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() The Profitability Index (PI) or Benefit Cost
: Ratio, is the ‘relation between the present

value of future net cash flows and the initial
cash outlay.

(State true or false)
Proﬁtability o<k (PI) <=t Melete g

SP®  (Benefit Cogt Ratio) =1 sfzs
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Answer the followin

g questions in aboyt thirty
words each : '

2x5=10
M.WW@%WMW%@mz

(@) State the meaning of net working capita].
%(%)W%%meﬁﬁzaww:

(b) State the sources of finance, |

. Rw BPRR S

(¢) State the meaning of financig] leverage,
R Frorees o Sy

(d) State the meaning Qf‘ pay-back period.
Pay-back e o ClEl 39 |
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(e) State the use of credit policy in determining
working capital level.
AP [ WY R cFae Al
Ao TRTel T | '

Answer the following within - 150-200 words
each : . 5x4=20

AR 150-200 = e RIS o Geg ol ¢

(a) Define net present value. How is it computed
in a capital budgeting decision ?

TS () <EU Ep kst @ail Capital

budgeting F&es Fde WA FHE N T

2l ?
Or/se[l

Discusé the use of Internal Rate of Return |
"(IRR). |

Internal Rate of Return (JRR) &9 IS
D 1 |

(b) Discuss the procedure for calculation of cost
of preference share capital. ’

TeRPRTE wtlgy N R Awfe
ST 1 | ' ,
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Examine the difference between financial
leverage and operating leverage,

Financial leverage wiis operating levcragc-@#

e APl Sl spficemva

(c) State the use of EBIT-EPS analysis in

(d)
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financing decisions,

Financing P s EBIT.EPS Ricsrrets
S 91 |

Or / 2=t

What is Wealth or value maximisation
objective or goal of an entity ? -
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What is cost of capital ?  How 18-t
ascertained ?
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4. Answer the following questions in about 601
words each :

aﬁoﬁrwowﬁawwﬁm@m@@aﬁmt

_-(b)'

balanced capital structure.
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What is over-capitalisation ? Discuss the

consequences of over-capitalisation.

Over-capitalisation & ? Over-capitalisation-

SF SARAS s 5t
Explain the residual theory of dividend.
STeRI™N residual @F G el |

Or / 5141

Explain the measurement and interpretation
of operating leverage with examples.

Bz oce operating leverage-S< i+
Fafe e sy Retweiw Rc et s
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(c) From the following  details, estimate the

working  capital requirement of Sarbogh
Manufacturing Company which is working at
60% capacity : - , 10
Reale waife =@ sigop CRICBITR
@ ROE 60% =oiBHs wix SRANE,
TR IS TR s e w1 ¢

Production at 100%;capacity : 24,000 unit p.a

100% (=iif6fo® Sestive caifs 2 =19 24,000 csifg

Selling price Rs.100 per unit

R Yoy 5 &S 100 Sy
Raw material Rs.30 per unit
PGl et ¢l &fS 30 Gt
Labour ; ' Rs.20 p‘er unit
TGS NS efS 20 S

Overheads (71 ) Rs. 14,000 per month
including Rs. 2,000 as depreciation per month.
ofS =S 14,000 5 2N foeve @fe s
2,000 5t o AW AW AN e itz |

Processing time one month
AR Twm G IR
Inventory holding
STy (IgeipleT :
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“Raw material
B! e
Finished goods
Teshifre sy

Credit period (3rpieT)

one month

IS o
two months

72 WY

(d) The total available fund for capita] expenditure
in a year in Guwahati Diary is estimated at
Rs.  2,00,000. The mutually exclusive
investment proposals along with the
Profitability Index (PI) are given as follows :

- Customers three_, months . 10
_— fof s Guwahati Diarys w1t <re9 218 @y SESS
Suppliers two months S0 T AR 2,00,000 St S
Q. freel 12 W2 ('! Mutually exclusive R e
Wages % month GTc®. Profitability s[5 wers T = ¢
gt Sy g -

Overheads : one month Project B C D E F.l G
TR W P MR Initial |
Contingency cash : 5% of total working outlay
ISRl TERNIY 9% capital in Rsisis 35,000/ 25,000 80,000 20,000 40,000 {20,000
W T PR T 5% Hife<
' 4 o™
Or / S
i Profitability
Define working capital. What are the facto« index 116 | 1.14 | 125 105 | 109 | 1.19
that should be considered in determining Profitability :
working capital requirements of a textil 5
company ?
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Identify the projects in order of the rank off

relative profitability under the PI method.
Which of the above projects should be
_accepted to maximise benefits ? Show reasomns.

P ~imfos SIS A" profitability ranks
Sige AR BEe | wibiRewE @
HCA6IF AR ! AT o N AFAR 2 T
el

~ Or/92 1
Discuss the traditional methods of capitsl
budgeting with examples. 10
SnizRe" ice #IT~IRS capital budgeting®
ARSI A < |




